1. o= ?

o
%e 7

Mo

ofn

® VT-V3-Vi= V2
@) V002 x V3 =0.2

® V6+ V4= V10
.1
@3\/§><\/1_T\/§—6\/§

® 2v2+ VI8 - V50 = —2V30

@ 3v2x2V3x V3 =18v2
®2v2+3vV2-5v2=0




5< V3x <62 WSSt A4 x & BF otoiet

vy
LR i

o

>

> e 9
> HED 10
> EE: 1

5< V3x <6 V25 < V3x < V36 °|2 & 25 < 3x < 36 ©|t}.
2
b §5Sx<12 olB& A x =9, 10, 11 o]t}




3. U= I AAYe] BEAAAEL W, A NS H A, B, C, D, E

(s}
o] HEF vt Wik AL BE VWY

A

>l <
&
|
\)
vs!
A
o
Q
w
—
\)
e -

®B-1-v2)  @c1+v3) @ D1+ V2
@E(l + V2) ® A(-2+ V2)

A=-2-v2.B=-v2, C=-1+vV2,D=2-v2, E= 1+ 2
ojlEZ @,@o]|t},




4.

N L EEE

[RERp

D12 O 14 (@)16 @18 ® 2

1 1
\/?GX V3 x VIG = —6X§X16:16




Al

o
/\'C()

rlo

= % Aol &

@ V50+3V2=5v2+3v2=5V5+8V2

o2 \[T_ 2 VExVE_26_ V5 _
3

V3x V3 3
® 3«/_—4«/'=8«/'
6
@va- 5=

® VI2+ VI8 —4V2=2V3+52

2V6

3

62
@\/3_2—\/_ \/_—@x >
:4\/'_ﬂ§

®3V12-4vV3=3%x2V3-4vV3=243

® VI2+ VI8 -4V2 =2V3+3V2-4+2
=2v3- 2




o 3 V2 o VT Atelofl gl FeEjgrt obd 2127 (T V2 = 1414
, V7 =2.646 )

V2 + V7

O V2+1 @ 5 ® 5

@) vi-v2 ® 72

@ V7 - V2 =2.646-1.414 = 1.232




)

2 TEN2
%%M:(\/g) + (g) ~ V9, B= VI00 - /(-13)°
A uf, 104 - B 9] & Fstoizt,

>
|> b= i 3

oHd =

B —
() - pe e

B= V100 - 1/(-13)> =10-13 = -3
w2tA 10A - B =0~ (-3) = 3 °|t}.




8. B<x<3d™,2\/(x-3)2- /4(x+3)? & IIH5] 5}H?

@—436 @ -2x-6 30
@ 6x ® 6x+6

B

—6<x-3<0,0<x+3<60°]2=
(Fo17 A) = —2(x-3) - 2(x+ 3)
=-2x+6-2x-6
= —4x




oh 7 0 fAE Bl A 5 22 A2
@4>\/§+2 @ V11-3> V11- V8
T 1
® 3> V13 @ 5<3
® 2+ V2>2+ V3
D4-vV3-2=2-+3>0
4> V342
@ \/1__3_(‘/ﬁ_‘/§>:—3+‘/§
=-Vo+ V8<0
oo VI1-3< V11— V8
@ FHe AFstH
(3)=3 =9, (%)= (VI3) =13
s 3< Vi3
@ A AF
N> 1 , N2 1
<}+‘ﬁ>=(\/;> = @=(3) =5
. \/T 1
®2+V2-(2+ V3) = V2- V3<0
L2+ V2<2+ V3




10. 5v2-2,B=3V2+1,C=4v3-24 o, t+-& = |4 TA7}
7109

A H

o 1l

g =

rlo

DO A>B>C @ A>C>B

@ B>C>A ® C>A>B

®)B>A>C

A-B=2V2-3<0°|B2 A<B
A-C=5vV2-4V3>00°0B2A>C
. B>A>C o|th




11, ©hgolA a-b o g Foha?

2
VUB:a%i\ﬁgzb%

35

| =
—_
(an)

22 31
35 35

108 22% 33 6 \/§ 3
ﬂ.::¢:::vr__; %
3

..a_g
/20 [22x5 245
49 20
2
b=z
7

_a_1_u
35 35 35

sa—-b

V3




13-a
3

12. =2 4 ), a 9 gh= F3keiet,

\/13—a_ VI3 -ax «/5_2
_— =

V3x V3
VI3-ax V3=6
mz%:%gzmzm

La=1




13. thg AFTEE o|-gstol V00313 9 e Fotofel.

P
T

] ©

1 2 3 4 b}

3.0 |1.732|11,735|1,736 (1,741 |1,744]1,746

3.1 |1.781|1.764|1.766 [1.769|1,772|1.775

3.2 11.,789(1.792 1,794 |1.797 |1.800|1.803

2
> =E: 0.1769

3.13 v3.13  1.769

V0.0313 =/ — = —— = —— =0.17
’ 100 10 10 0.1769




14. % 4944 q, b ol Hsto] V2T0a = b & W, a+ b o] A%:7HE T}
ofet.

> E:

> =gl 120

—€B ‘
V270a = V33 x2x5xa

=T Qo] AQl¢9] X7l BT BT1 Elojol SlER ¢
3x2x5=30°|th

a S YASIH V2700 = V33 x2x5xa = V34 x 22 x52
32 x2x5=bo|t}.

2bA b = 90 ot




15.

[e]
O<a<1¥d, o35 3 7P & w27




